0001745904528999

<0 LEXE 0—e 1>

2013 4F Fsle 715 2 3 1M | FB /288
3|a®EDEHEL, xOMMy=0a*2?—2ar—1 (1<xr<3)
IMEZE m T 5,

(1) M, m#&FNTh a TR,
(0 B %-emaamaa)mqmot.

(1) y-':'az(zf —ZZ) -/

n
BN
N
|
S
N—
|
N

4
(L2 Tehs a>z ae?
gﬂi*@.fiimﬁf.x:‘f@k?, -‘~M=?Q2_gq-/
@) £22 Tuns gcasior?

HﬁhﬂfEEté’mJJ xX= [ak3 = M:d..zd../

). G LY M= [9a—bac (a>f0es)
ar-2a-~1 (0<astat3)

%

®é</?€r‘ﬁ5 a>t ok’ , -

-ga‘z/lvfﬁg L3013 X=19¢7,
S m=a~2a-/

® ¢lss Tyws f3sasi ned

A
a

A

S B ssiald A= Foes

S m=-2
/
@g;g 7245 o<a<yae?
FeMME ¢ 2303 2=30e5 m= 92 —~ba~ |
at-2a-1 (a>10t3)

Q~Q &) m = ,
-2 (§sasl10et3)

90> ~6a—1 (o<a<foe3) Y




0001745904528999

o0 ItEXY 0—e1n

2013 4F BHEMHIM 7740 A28
3|akEOFEHEL, 2 OBy =a*22—2ar—1 (1<2<3) D#zx2z25. OoBAE M, 5
f .
MlE mETD e %K{@.U}tgﬂﬁ%ﬁ
e k4
(1) M, m%&ZNTha kI NTHRE, R -
(2)M—m:%'ﬁ3’9€)ti¥®a@{|ﬁ’&ﬁ&b$. ﬁ_ . ;%MEG) /I 5
0 £ £ dpsmnt
(2) (1) &Y. ,
() 0Sa <3 ?ER
M=m= &=20~1 - (Pa°=64~1)
= -pa’+4a
( > / PN ol (s
M-m= 5 & fa-4atz-=o - 0.5 S
. 3T 3 3—7
“ﬂ:—"?‘z_'_" ﬂ(a<§[féfft?@[;'ﬂ: 72 '
&, Sléa-s-z/ ? &3
M-m :ﬂ-"“zd"‘/'—(—Z)
=g —2at!
( £ L . 3
M-m=3 & a-(=%1F 4= =3
[ _ 2-/3
é;ﬁé; s ol a-= 3
T 1-(615- | o &d
(‘)z - 2‘ . /—+_/ : 5 -))Il/;
deme gEnbasic () =i as
Leasl 8 arfaix. a- dutd
2 7
@ a>1 atl.
M—m = 9a*~ba~[-(a'—2a-1)
= fa’-4a 7 t
s " 37 R,
 pa—td-f =0 = I g (5 A5 1E 3T RP)
) _ 3=/7 23 2~73
Gla (G £Y.  as= 33 ¢ Tg L Tz
S




